Question Paper Title : FG_12

Date of Exam : 15-06-2019 02:30 PM

Reference 1D:(17603) 8.25+55+12.15+6.25-(3.25-6.55 + 4.75)=
A.30.70
B.30.15

C.30.05

D.30.95

Answer: A.30.70

Reference 1D:(21202) AT did RBTH ST WRT: 2, 5, 18, |, 74

A.42
B.41
C.44

D.43

Answer: B.41

Reference 1D:(32938) SR 3= I 7 fRyq 3Mme.

ASETR



B.SQR

CdlbR
D.SNYR
Answer: D.Gﬁ%rqg
Reference 1D:(30361) Find the word opposite in meaning to the word:Oblivion

A.Forgetfulness
B.Consciousness
C.Nirvana

D.Unaware

Answer: B.Consciousness

Reference 1D:(18973) Qe YsaTal AN / JHN ThR 3.

P

A Fgdife
B3N &g
C. 3T

D.HHYRY

Answer: B.SANR &g

Reference 1D:(26043) STaRE i SUIRT Wieitaud! HIodl dRR 3MTe?

A AT TR



B.XIHBIH PR
CASH PR

D IO PR

Answer: D IO PR

Reference 1D:(28610) Pick the right idiom which fits into the sentence: Jose decided to all troubles

A.Steer clear off
B.Dance to the tune off
C.Let sleeping dogs like

D.Be at his wits end

Answer: A.Steer clear off

Reference 1D:(24934) Jeid e aggNa! Iy Teg fAasr.
STl U Hifgdt 38 3R
A.Sg=Ul

B.gfguitdt
C.IIERIMI

D.dg4d

Answer: D.dg¥d

Reference 1D:(19000) QAT YecTal AN / THNY THR 3.
UG

A.SHTTHG



B.g¢g
C.g! qgY
D.9gdifg

Answer: C.N§! dyoy

Reference ID:(31691) IR UG T G& DI g2

A. 3%
B.&hgHd
C.fius

D. I

Answer: A.3{RMNp

Reference 1D:(30615) Pick the correct meaning of the highlighted idiom: Gautam Buddha was born with a
silver spoon in his mouth .

A.Someone who shows compassion towards others
B.To be born knowledgeable
C.To be born rich

D.Someone who is spoon fed all the time

Answer: C.To be born rich
Reference 1D:(28891) Supply the correct tense of the verb in the sentence:
At one time, he beautiful kites. His kites ____like butterflies in the air.

A.Had made.......... had danced



B.Was making.......... dancing
C.Has made.......... had danced

D.Has made.......... are dancing

Answer: A.Had made.......... had danced

Reference 1D:(20213) X o Gf&rT foRie di's 3i1g. a1 90 3R Ioldidhe dodl. HIT I 45 3 Ioldids dad!,
HIT Al 180 3T ga&dl. T dl 45 3/ Ioldih s daddl. Riact dl STdtdbs 90 3 gl
3T dl HIUTAT R dig BT JUT 387

ATd
B.Ufgg

C.3R

D.Gf&ur

Answer: A.q\?f

Reference 1D:(29626) Pick the Synonym for the word:
indigenous

A.Native
B.Imported
C.Immigrant

D.Alien

Answer: A.Native

Reference ID:(16895) 8/20+0.5-5/25="7



Answer:

Reference 1D:(24680)

Answer:

Reference 1D:(24426)

Answer:

Reference 1D:(26047)

A29
B.0.875
C.0.7

D.1.55

C.0.7

q%rﬁﬂa?ﬂwaﬁmrﬂw Wﬂaﬁtﬂmwﬁa—eﬂ
UIHR URYed GUISBIH BRGHT ... Fifrde.

A TSR
B. 30N

C.gYal
D. Uy

B. 30N

TTedUe! BT T8 Yee AT uaig fAasr.

A g1 feay axfieeayuf oR.
B.31TS PTa! asl faser 31mg.

C. 3fTordT faay fa=Iv 3178,
D29 TR 3Tora aRIgy 3R,

C. 3fTorar faay foriv ofrs.

YRATAT WA DHI0Td S "RIIT GITaRUT TREUT STIOT URUITTST SATIOT ==
ol d g-eiidic I&UT HRUATHTS ! Td B ga" 31 TgUld.




A.DciH 12
B.hcTH 24
C.®cH 36

D.hdlH 48

Answer: D. & dH 48

Reference 1D:(32941) ‘Po] AT YR HIUTAT AT e TS 3HTe?

N IENREEY

B.3TRRIS
C.STHRL-BTRAR
D.HY U

Answer: INREIERR R

Reference 1D:(27040) Find the meaning of the highlighted word in the sentence: It may have been a
simple ridicule, but it still made him feel rejected.

A.Poverty
B.Statement
C.Job

D.Mockery

Answer: D.Mockery

Reference 1D:(22245) Welidue! gafd AT Tafa HIordr iR 2



A125+62+35-74-102 +93-45-37

B.48-17-25-32+126+104 -34-74

C19+12+45-42-36 + 103 - 45 - 207

D.144 + 67 +25-32+26-104 + 44 + 13

Answer: D.144 + 67 +25-32+26-104 + 44 + 13
Reference 1D:(21456) SR KUMQUAT &T ¥s& LVNRVBU 3f8d, @ NECTARINE &1 Usd 3.
A.OFDUBSJOF

B.OFBEDFJOE

C.OEBUDSIOF

D.OEBUDSIOE

Answer: A.OFDUBSJOF

Reference 1D:(31694) YR HfAYTHM D101 ¢RI g ayd JHUBR dd 3ed.

AGARICS Ty 1t 3AR®T

B.h3]

C.grace fhiren

D. 3ifeefer

Answer: AFTACE Wy 3 AR

Reference ID:(19454) WTefieiten! arasraR 3nfor e sufht 9w Sl siesr.

ASTa HiSaTd TS0 — JU o HR0L.



Answer:

Reference 1D:(20721)

Answer:

Reference 1D:(24653)

Answer:

Reference 1D:(29399)

B.SiId WTellaR 8101 — i+ SRa= giul,
C.d¢ °Teul — ST HTH BRI,
D. TSI BIUT — Jog UTam.

B.Sfd @Teitar g1vf — e 3Ra=y giu.

WRWO=76, WHAT=104,SHE=64, dAAWASH=__7

A.99
B.100
C.101

D.102

D.102

THTciel Tt RepTHT STRT HRUGT Hdld aRY ¥eg sl
GERIAAIG § Gadl SfToredl ST ....... 3Tg.

AUiEd

B.g7d
C.UU|@

D.dRkdd

D.dRkdd

Pick the right meaning of the highlighted word in the sentence:
The teachers had to segregate him from the rest of the students

A.To physically separate someone from others



Answer:

Reference ID:(17376)

Answer:

Reference 1D:(23918)

Answer:

B.To unite someone
C.To link someone to something

D.To be distant with someone or something

A.To physically separate someone from others

9.65+5.95+3.65-(9.55-3.95-3.75)=
AA17.15
B.17.75

C.17.40

D.17.25

C.17.40

Trefidue! faw e Tear SRR Siet 3T,

A3 x 93§
B.31%d x TSl
C.378! x 9T

D.3MTS x ATl

A. 378 X §37g]



Reference 1D:(29118) Fill in the blanks with the correct form of future continuous or
future perfect tense: We hope that all fighting by end of the year.

A.Will have stopped
B.Stopped
C.Is stopping

D.Had stopped

Answer: A.Will have stopped

Reference 1D:(31697) HHNST YR 31fad IR {3l SEIfTa Hal SIral. Wieitates! 3R S0 R
312 o S pyHeT SMfSTd Bid et 2

A.3IATETSTG
B.8R&R
C. A%

D.d4qRY

Answer: D.d1dRY

Reference 1D:(28383) Find the meaning of the word:: Feign

A.Simple
B.Honest
C.Unconscious

D.Pretend

Answer: D.Pretend



Reference 1D:(24199) WU STHRUMA T 3MRG Xeq-aa AT Ueg 5.

A.3ifdom s
B.UFe

C.3FUq
D.URYE

Answer: A.3ffehe

Reference 1D:(22827) R $ 3R '+ 3T @ 318 ', TR WielidUo! Tafd T8 Uaid wIvrar 3MTg 2

AS5@11$75@42$62$13@45@ 27
B118@17$25@32%126 @ 104 $44 $ 37
C79@42@165@42@36$103@45@ 17

D.38$107$25$32$26 @ 104 @ 144 $ 7

Answer: C7T9@42@165@42@36$103@45@ 17

Reference 1D:(20467) X 9 Uy feRien dis 3. di 45 3i=T STalds dadl. 1 al 45 3% IoTdidhs dosdl. 7
dl 180 3i=T gesdl. HIT df 90 3 Ioldih s gosdl. Adel dl SMdIdhs 90 3 I&dl. 3Tl
I ST fARITT die e SHT MR ?

ATfEH
B.aféfor

cgd

D.3™

Answer: C.Uﬁ



Reference ID:(16514) TEISIUIA, B, C, D, E 30 F § & IAMMHE THUBIHS die Ho- a3 3Ted. Qg
T bt i STUT T8 d. E 8T PIUIATe! XA /de! §Heidl Alel. D 81 F &
SAIPh S T HHIBIER 3R, E I USR] SHdl A BT D =1 SO 3MT8. C 8T F =
TATRY 318, WA DI ThTa I 3Med?

A.A 30T B
B.F 301 B
C.E 30T D
D.A 301 C

Answer: A.A 30T B

Reference ID:(16541) R @ 38 "HIIHR' 31T § 31T [UNHR’, TR Wi Jaid HIdT Uarg HIurdr 3g?

A.49@5
B.3.5$4.5
C.33@4

D.3.75%4.5

Answer: D.3.75%4.5

Reference 1D:(32940) RT3 (RBI) 13T 3ifaH woiarar 31Tg.

ADHE RBR

B.®IURC §St

C.RI3R §9R

D. TqTRIP Sl



Answer: D AR ST

Reference 1D:(30642) Convert the following active to passive voice: Picasso was painting Guernica at that
time
A.Guernica was to be painted by Picasso at that time
B.Picasso had been painting Guernica at that time
C.Guernica was being painted at that time by Picasso.

D.Guernica was to have been painted by Picasso at that time

Answer: C.Guernica was being painted at that time by Picasso.
Reference D:(23437) I AT Yeg AT THHTS Weq ez,
A3

B.Rg

C.2x

DT

Answer: B.R"EL

Reference 1D:(26046) JaIcUe! HI0TT YaTaRuTaTe il TRl qySOT ST HRUATd 31T 3187

A . GeXdTe ggiun
B.31Ydl XY



C.AYT UIehr

D TSI 4dIG Hg

Answer: A Jedrd dgi[un

Reference ID:(18719) WA aIeT] B 35l
Ht X1 FTerd 3Te

AT IAATIPTS
B.R<l adam®HIS

C AT TAHTD TS

D .Ul IdHFSIS

Answer: C AT TR

Reference 1D:(19962) qerd faumTaT ot Te01 9 rd ST Uag i
Iy TreaTes W1ed BId Ul §R aY fedhal gid. e R Udh adedrgal SHured
HOhaTo] SdI 31T 8¢ Usdl. Turdrd -7 ...

ATHIDHd d IR A T8
B.9chT UTuit fUd, Teures ciet Wid
C.qrafdd A+, g4 gd drg!
D.dd &d R &d 7d

Answer: ATHTHd d IR I 994

Reference 1D:(27648) Pick the correct meaning of the highlighted idiom or phrase from the following:
When the court sent him a notice, he realized that
the ball is in his court



A.lt is up to you to make the next decision
B.To postpone something till later
C.To avoid a situation altogether

D.To make the most of a situation

Answer: A.lt is up to you to make the next decision

Reference 1D:(16868) SR @ 38 "HFTIHR' 30T § 318 TOMHR, R WIeid Ygraided! g1 i Faid
TG DI 3MTg?
A.39@5
B.4.25$1.5
C.31@4

D.2.75%1.5

Answer: B.4.25%$1.5

Reference ID:(19708) JaId U1 Ul HRUGMIST g uaig Fasl. $orerdl aiel ...

A TIITER 9Tl
B. AT aTuRT
C. Mg BT

D.HISUT del

Answer: C. Mg BT

Reference 1D:(21229) R LETTUCE 8T ¥leg TELTUEC 31:d 30T COMPUTE 8T Ysg MOCPUET 38, &R
CABBAGE BT Y[C 3.



Answer:

Reference 1D:(34912)

Answer:

Reference 1D:(29372)

Answer:

A.BACBAGE
B.BACBAEG
C.BACABEG

D.BACABGE

B.BACBAEG

SR 6x12=5184,3x 3 =281, 38 x9=5184, W4 x3 =7

A.1140
B.122
C.144

D.354

C.144

Pick the right meaning of the highlighted word in the sentence:
She didn't have the courage to admit to her deception.
A.Hard work

B.Being honest about something

C.Resorting to fraud or trickery

D.Weaknesses

C.Resorting to fraud or trickery



Reference 1D:(29145) Pick the right meaning of the highlighted word in the sentence:
The students used a covert plan to hack into the school computer to change their
grades

A.Something exposed for everyone to know
B.Something visible to everyone
C.Something hidden or secret

D.An obvious fact

Answer: C.Something hidden or secret

Reference ID:(17857) 39 U1 1/6 + 50 &1 60% + 0.25 x 150 =

A.75.5
B.76
C.73.25

D.74

Answer: D.74

Reference ID:(25415) I T XeaTa Wieiaus! T el faug 3.
ARTST + 313
BTl + Uy
C Tl + 35

DI + U



Answer:

Reference 1D:(32945)

Answer:

Reference 1D:(26048)

Answer:

Reference 1D:(19481)

B 1ol + Uyd

WA YRATE Uigd T8 ARTERE A9 $1 3g?

ATH. TdoTel! Tt
B.HETg HeoH
C.BRaTd . F1f==n

D. g4l 3o g™

c.BRara <. if=an

AP Siafafaydr faay Hivr fdah JIoRT e Sl

A.21-5H
B.22-H

C.24-3Re
D.25-SMaR}

B.22-H

TYTd feoiedT aTRERTE A1 aTiR SR TR T 3fieswl. 3id: ol 314 °ol

A SR STSUM=] IS HIYaRIaTAT 3id: BRI 319 Udal.
B. IR Nfergi=ar 3id:HumdT 319 Uddl.
C.HYA S deiedT iU UIgudid 3d:Ula 319 Hdel.

D. AUTe UTeaT WesTd = dueied Yefieal 3id: Uil 319 ddl.




Answer: A SITHR SIAU=] IS HIUaRIaTAT 3id:HRUMET 319 oddl.

Reference 1D:(26050) TTAUD! BV JARGD! ST aRYT RIS 12

A Gexe AP I
B. SIS, 3 TH
C. ! 3t Filad IPTF I

D.&a5d 0T, ORI

Answer: D.&a5d 0T, ORI

Reference ID:(17149) 3.35+255+465-(3.5+10-25+4)=
A.-4.1
B.-4.45
C.-46

D.-4.7

Answer: B.-4.45

Reference 1D:(24907) PENRIE R R R ARG
SIS a1 FHISIRITST ST UT0T dared al

A.aTe
B.AlGT



Answer:

Reference 1D:(31690)

Answer:

Reference 1D:(22599)

Answer:

C.HifddrRY

A BaTe

_ U9d g URd Ioa e SRITOE B

A STTSl fay=T
B.9SIRIG

C.9T3Tol! JTelRIg

D. TSI

A SIS [ay=Ty

SR $ 3R '+ 30T @ 318 ', TR Wielidua! gafd AT Tafa ot 38 2

A25$22$35@72@ 102$ 83 @ 45 @ 27
B48$17$25@32$126 @ 104 @ 44 @ 71
C19@12$15@42 @ 36 $ 103 @ 45 @ 107

D44 @67$25$32$26@ 104 $44$ 13

D44 @67$25$32$26@ 104 $44$ 13



Reference 1D:(31123) kR
N é‘.— S e
2 ‘B s -_"_H, y, r-.n..-' - .-.1,
! = C
_I.l 1
h i, 0 | 5"|
F'\.--..r ) -
2
{ i W pne ) 3
£ 5§
. = L
N
A 5
g
s
o 2
-t

FENISEIATS AF1nd av= gifdear fSegr @refeddr SvmEr g7

A ARG

B.gIaR

D.dcleIUN
Answer: B.7gIaR
Reference 1D:(27621) Identify the figure of speech in the following sentence: The new teacher in the

school is pretty ugly.

A.Personification
B.Hyperbole
C.Oxymoron

D.Euphemism



Answer: C.Oxymoron

Reference 1D:(30107) Find the meaning of the word:: Harsh

A.Cheerful
B.Bland
C.Calm

D.Severe

Answer: D.Severe

Reference ID:(25161) S INMINECIERIGIN Wwﬂmlﬂﬁr H*isd-iloh Iea g HHi% Hdsl.
I AT oo &% UG WITd .

Answer: AT

Reference 1D:(26044) TR TafaRurard} Ty Sl aie ST e Wieaied! HIvd b 3e?

AT 9@ A ST 989

B.< Thicl 31t 3 TR

C. 59 31t Pl

D 33T R 9y



Answer: B.q Wid A 3 TR

Reference 1D:(31695) RO Ifdue ged Ry =0 Hdfdd 3.
AT sl praar
EREIERIRE]
C.STHI YR

D. g 311 IrsaiAed SifYeRiT faazur

Answer: A TR §cl Hac

Reference 1D:(20975) AT did ReTH ST HR: PR WYBD

A.Q
B.A
C.T

D.S

Answer: CT

Reference 1D:(17884) X BTY B 25% =il HIGT 315, T Y 8T X g % T8 5.

A.75
B.25

C.400



D.20

Answer: D.20
Reference 1D:(24172) WTetaUeh! BN T8 Y Ve3-aka- SRciel Ueg 3Nesl.
AZSHYUR
B.EeMUR
CEeiuR
D.geMuR
Answer: B.EeMYR
Reference 1D:(28102) Find the meaning of the highlighted word in the sentence: Something seems to be

amiss, can | help?

A.Wrong
B.Ethical
C.Functioning

D.Suitable

Answer: A.Wrong

Reference ID:(18746) fEdIen aTaites! aTe YTl "aad ared FHagl,

A O T Bl

B.XMH TIT0! 717d Bl

C TdM Id9MYH I,



D. et Grshd aTdfdd gia.

Answer: C.Ham aduus g,

Reference 1D:(32944) 3feHT 3N PR 9 Tiehaue! HIomeT SHfHR &3Td AdTd?

A BIABT I AT

B.T9S 3 AN

C.3{gHaldlq 3= UMdley

D.4&% 3= [Ty

Answer: A.DIADHIAT S I

Reference 1D:(32947) URATd fefRIS AfeR D1 31182

Answer: B.“ﬂe{%R

Reference ID:(19735) “GUTd YRAR TS0 7 Tguian 3 Wrelictian! HIorar o Sfieswr?

A.3{THEId TURAH HR TS0l

B.fIe o &1l

C.gU g:@ glul
DTS TS dicul



Answer:

Reference 1D:(29880)

Answer:

Reference 1D:(22573)

Answer:

Reference 1D:(29853)

A.3{THETd STURAH HR TS0l

Pick the right antonym for the word:
annihilation

A.Survival
B.Extinction
C.Loss

D.Havoc

A.Survival

QAU Tdid A8 TR HI0dT 3778 ?

A12-55+62-45-65+103-42-57
B.18-17 +52-35+56-104 + 44 + 37
C.19-15+162-45-36-103-42-17

D.38-107 +52 + 35+ 56 - 104 + 44 + 37

A12-55+62-45-65+103-42-57

Pick the Synonym for the word:
Extrude

A.Eject
B.Accept

C.Admit

D.detain



Answer: A.Eject

Reference 1D:(35166) TTeft fedear Tt 3 U GHIA 3MTed ST 1 fe 3118, SHIurdT uxi fie o 3ieswan?

A.Near Indrapaul building Gaurav path
Bhanpuri chowk

Chhatisgrah

PH 0509803403

B.Near Indrapaul building Gaurav path
Bhanpuri chowk

Chhatisgrah

PH 0509803403

C.Near Indrapaul buliding Gaurav path
Bhanpuri chowk

Chhatisgrah

PH 0509803403

D.Near Indrapaul building Gaurav path
Bhanpuri chowk

Chhatisgrah

PH 0509803403

Answer: C.Near Indrapaul buliding Gaurav path
Bhanpuri chowk
Chhatisgrah
PH 0509803403

Reference 1D:(26049) T 1986 TE TUTGRUT TREUT SO RO HRUGTAT I M HRA IRBRGR
SffATAfEd HRUard 3.

A UgTaRUT (FR&) SHifgH
B. R g 31|
C.g (Fagm) sifafam

D . I=gsila TReur 3ifafaH

Answer: A.TafeRTT (ERem) sffafran



Reference 1D:(30134) Find the word opposite in meaning to the word: Jovial

A.Festive
B.Laughing
C.Sad

D.Happy

Answer: C.Sad

Reference ID:(25188) TR o1 e Wieitads! arg Teft favrg sfes.
AfdP + 3@
B.fe® + TR
cfe+3im

D.fa7 + 3R

Answer: A.W + 3[R

Reference 1D:(31693) SIS FaTd AicaT dide i el Wadbrd! el "dhH GRI" &1 Jhdid HIuTT IodTd
3Teesdl 3Tg?

A.3fifSm
B.3R3Ud UG
C.HY Ucx



Answer: D.flw

Reference ID:(31692) YR Ufgd dledh GUgad Y ITSTIT 3Td.

A.IRD
B.dfieg

Answer: B.H&IE_FFI@

Reference 1D:(23664) Grefierte! AT et SRISR Set 3w

AGIC - fRe
B.4le — ToRT
C.3{YR — faffr
DGR — Srgamdt

Answer: C.3YR — faffR

Reference 1D:(32946) e TR TPl HRT SR DIcaT YRAT DI AT 3MTg?

A TfEH ST

BTSRRI

C.ISoRId
D. 3R USH



Answer: B ISIRITT

Reference 1D:(28637) Pick the right idiom which fits into the sentence: Sarita and Aruna fought publicly
and as a result

A.Minded their P’s and Q’s
B.Turned tables on others
C.Washed all their dirty linen in public

D.Kept the wolves at the door

Answer: C.Washed all their dirty linen in public

Reference ID:(23945) Wit faeerf et et siie! e,

A XdId x Hal'
BT x TIRA™

C.&Y x I

DR x 3RR

Answer: C.&Y x =T

Reference ID:(18211) A= STeHt | A A aTe | ARl aTc | @R |
RN MBI APR 3Hiesal.

A. SR
B.JI&T

C. YifcrHT

D .l



Answer: B.G_ca&ﬂ

Reference 1D:(21483) SRA=1,B=2,.M=13; 3TN =13,0=12, ... Z = 1, TR TTAd Jb! HIUII
Jg1g SRISR 3MTR?

A{J+0+Y}>{S+U+N}
B{J+0+Y}={S+U+Nj}
C{J+0+Y}<{S+U+N}

D{J+0+Y}={Y+0+U}

Answer: C{J+0+Y}<{S+U+N}

Reference 1D:(27394) Identify the figure of speech in the following sentence: The night was creeping on
the ground.
A.Apostrophe
B.Metaphor

C.Personification

D.Euphemism

Answer: C.Personification

Reference 1D:(32942) YRATT eI HS THTTE ATa i@ Sld?
A TG
BT HT

C I uRvg



D IU%! HIeIe! el

Answer: A AHIHT

Reference 1D:(26045) WTelIeies! HIU/DHIvG ekt ! SiigiaTit Tafda 3me?
A) T SguT
B) de! UHIG HE
C) HeT Ui
D) fa=aT H1d

A.A 30T B
B.A 31 C
C.B 3T C

D.A 3T D

Answer: A.A 30T B

Reference 1D:(17122) TTeite qatatiet gu=aT shHidTd Jaid HIST HI0T 3HT8?

A. 350 @ 20%
B.1100 3T 1/4
C.0.35 x 900

D.1400 dT 2/5

Answer: C.0.35 x 900



Reference 1D:(31689) Uedhls dd I HRATITS PIuTel HITd 3Ted?

A.3TR gdf
B.af&ror gdf
C. 3R ufgrHt
D.&féor afyet

Answer: A SR tlﬁf

Reference 1D:(19989) "JIHT" T YT AT Weq; 3z,
A.3id
B.3fdfRel

c fazma

Answer: B.3iaie&l

Reference 1D:(26042) A A1h S § WAt HIurdm TRéd Sl qasd?

INCIERCAN RG]
B.AMY guild HIRTY
C.IATS HHARTY

D. IR YRy

Answer: B.AMY guiid HIRTY



Reference 1D:(30896) Identify the figure of speech in the following sentence: I'm on a heavy diet till my
birthday.

A.Oxymoron
B.Euphemism
C.Apostrophe

D.Hyperbole

Answer: A.Oxymoron

Reference D:(20240) Teh HIUH AT ORI Giaor faR 12 fo 1t et
T dl SIdis gaad! 31101 5 fos 1. arardl.
T @ Ioididhs daad! 3T 1 fob. A, arerdl.
T @ Ioididhs dadd! 3foT 7 T /. arerdl.
T dl IodihS gaddl 30T 4 o5, 1. arerdl.
T dl Iolaibs gaddl 31T 2 fop. 1. arerd.
ol AT ERIURA el @R 3HTg?

A.8 fob =i,
B.9 fob .
C.7 f&. .
D.7.5 fob Ht.

Answer: B.9 f&.Hi.

Reference ID:(27367) Identify the figure of speech in the following sentence: The truth was like a bad taste

in his mouth.

A.Metaphor

B.Hyperbole



C.Simile

D.Personification

Answer: C.Simile

Reference 1D:(19227) YUl gI0). IT JTRIIRTET JIetadd! Hiorar 312 9w 3mg?
A.TEIE! SIH! FeTSIuTiHT FAS0!
B. 8T dlsbi-I TEId! STt Faf1 iy
C.TETe} I ST Fair wifgd grov

D. P10l e+ T W STdH! FaiT SRg FiTor

Answer: CWWWWWW

Reference 1D:(31696) HRATAT YqUHTUS] Jafd SR H1e5 ISV Wi bIord GTgeT gla?
A feRT Tieht
RISICKIE

R CIRGINE RS

D. A R

Answer: R CIRGINE RS



Reference 1D:(32943) HRATd IR gaid i UHY ... SHHdTd.

AT HHSI ST AW
B.Udue™
C.HRdT APl

D.IRe&fur {4t

Answer: C. YR PG

Reference 1D:(30388) Find the meaning of the highlighted word from the sentence: He raised the water
bottle to his parched lips.

A.Hydrated
B.Damp
C.Saturated

D.Dry

Answer: D.Dry

Reference 1D:(21710) SRA=1,B=2,C=3,...Z =26, dqR T Uh! SV 7T SRR 3MTR?

A{V+E+R+B}={W+H+A+T)
B{V+E+R+B}<{W+H+A+T}
C{V+E+R+B}>{W+H+A+T)

DIW+H+A+T}={P+L+A+Y)}

Answer: B{V+E+R+B}<{W+H+A+T}



Reference 1D:(34939) SR Hidh i HINd 432567 § 523476 3118 , TR 765217 § Aidbidd HNT BT HA?

A.855126
B.856126
C.856216

D.856116

Answer: B.856126

Reference ID:(17630) 54 =1 1/12 + 25 =1 30% + 0.30 x 180 =

A.67.5
B.68
C.66

D.65.25

Answer: C.66

Reference 1D:(28129) Find the word opposite in meaning to the highlighted word: Chasm

A.Closure
B.Void
C.Gulf

D.Opening

Answer: A.Closure



Reference ID:(27875) Pick the correct meaning of the highlighted idiom or phrase from the following:
By resigning from the job he has burnt his boats

A.To take an irreversible step
B.To get oneself in trouble
C.To pick a fight with someone

D.To act without thinking

Answer: A.To take an irreversible step

Reference 1D:(20494) R DS =-15, FR =-12, dX DG =

A3
B.2
C.0

D.-3

Answer: D.-3

Reference 1D:(30869) Identify the figure of speech in the following sentence: The bread jumped out of the
toaster.

A.Simile
B.Personification
C.Metaphor

D.Euphemism

Answer: B.Personification



Reference 1D:(26041) HHT (CAMPA) fdd @reftatet sl gefia amg?

A GUFHRE

B RS ailhrul

C.UgfaruT HagH
D. Aol tRUMG AR HaHT

Answer: B.UfdUX e a-IhrUl

Reference 1D:(32939) ?T@T[ CRRK]] &Iﬂ?ﬂﬁﬁ BRI @ (National Bureau of Plant Genetic Resources) El
T ... 3 3G,

A fRramT
B.7d! faeel

C.ddI e

BR:CE]

Answer: B.d! feeet

Reference 1D:(28356) Find the meaning of the highlighted word in the sentence: The man couldn’t discern
between right and wrong.

A.Differentiate
B.Be confused
C.Overlook

D.Miss



Answer: A.Differentiate

Reference 1D:(20748) R |Q =59, KIM =657, d? 1107 &Fﬁw

A.ASM
B.AMS
C.UAG

D.SAM

Answer: A.ASM

Reference 1D:(18492) M My fafgedt. a1 areame gau HHUR JaTd iR BRI STy Weaudt
DIV YT g B?

AT T ferfe.

B. T MY ferg e,
C.Arh g MY fagad.
D.ArAdh g My fafget e,

~\

Answer: C.ArAh g MY fargad.

Reference 1D:(18465) TSI U&3H ST5d fdbal ol IRT T, T el UhR Il

A.HId a1
B.Hgdd dI”
c.fya

RIGIE:]



Answer: B.Ggdd dTH

Reference 1D:(27013) Select the correct passive voice form of the sentence: | am burning the mid-night
lamp.

A.Burning the mid night lamp is being done by me
B.The mid night lamp is being burnt by me
C.l am burning the lamp at midnight

D.The lamp at midnight is being burnt by me

Answer: B.The mid night lamp is being burnt by me

Reference 1D:(18238) 37T fayTes <d | 01 Iy dIvTd |
dINI A9 91d | TeH g

RN iSIde g ez,

A ST
B.UTGIh A
C.3fiat

D.3{HTT

Answer: C.Gﬁﬁﬂ

Reference 1D:(23691) TR a1 Wegran faegrd 2rsg Sl

A DI

B.IR



C.3[aRus®h

RIISEEILL
Answer: B.ddR
Reference 1D:(28864) Convert the simple sentence to a complex sentence: She requested my help

A.Help me, she said
B.That | should help, was requested by her
C.She requested that | should help her

D.l had to help her as per her request

Answer: C.She requested that | should help her



